W.LH 623N/623NAIBWgIel~/St"09°6v T 0ET//-dnY S|y Jejiwis 33

—
®
(@]
>
2.
o
=R
5
=
o
=
3
QD
=
o
=
=
=

©
§

o
o
o
Q
3
o
@D
o
=
=
=

°
=
=Y
w
o
[E=Y
N
©
(o2]
o
S
al
~
X
Q
=
o
3
@D
=4
=

http://130.149.60.45/~farbmetnk/UE20/UE29L0NP.PDF /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/4

log AL luminance difference | y=30cd/n?
- threshold g -

- 04 0,15 A&Y 630cd/f hyp2

L e ] e B S
-2 -1 0 1 2 X=logL

log AL luminance difference =
e threshold Lg 630cdrf

+ 04 0,15 A&R 630cd/® hyp2

. S . . ol
(')' ']'_ 5 x=logL

log AL luminance difference =
s threshold Lg s3edin

— 04 0,1s A&Y 63cd/f; hyp2

log AL luminance difference | y=63-d/nf
E threshold g '.,

— 04 0,15 A&R 63cd/& hyp2 /

#

Pl

-
AN

™
Bk

e —

-2 -1 0 1 2 x—IogL
UE290-7N_1
UE290-7N

TUB-test chart UE29; threshold da&aramopoulos (89)

log AL luminance difference | y=630cd/n?
- threshold 9 -

- 04 0,1s A&B 630cd/ify hyp2

L e ] e Y S
-2 -1 0 1 2 X=logL

log AL luminance difference =
2 threshold Lg 630cdirf

- 04 0,1s A&G 630cd/f hyp2

L e ] e Y S
2 -1 0 1 2 X=logL

log AL luminance difference | y=63.d/nf
J threshold 9 =

. 04 0,1s A&B 63cd/rf; hyp2 /

UE290-6N_1
log AL luminance difference | y=63cd/nf
threshold 97>

- 04 0,1s A&G 63cd/f; hyp2 /

d

Zal

)

2 D
ey b
=37

L e ] e B S
2 -1 0 1 2 X=logL

UE290-8N_1

log AL luminance difference | 4= Zcd/nf
. threshold 9 o

- 04 0,1s A&Y 6,3cd/f hyp2

A
2 -1 0 1 2 X=logL

log AL luminance difference =6,
2 threshold Lg=e cdinf

. 04 0,1s A&R 6,3cd/f; hyp2

A
2 -1 0 1 2 X=logL

log AL luminance difference =
2 threshold Lg_SSCd/nj%
=6,3cd/

. 020,15 Y 6386,3cd/ hyf

log AL luminance difference | y=63cd/nf
9
threshold 6.3cd/nt

. 020,15 R 63&6,3cd/f hypd

A
2 -1 0 1 2 X=logL

tp=0,1s, A&YBRG, 4 observ., 3 luminances, hyperb. A

log AL luminance difference | 4=6 7cd/
- threshold R

— 04 0,1s A&B 6,3cd/% hyp2

—_— e e
-1 o) 1 2 x=logL

log AL luminance difference =6/,
- threshold Ly e

+ 04 0,1s A&G 6,3cd/f hyp2

—_—— e —
-1 0 1 2 x=logL

log AL IlrJ]minan%e difference ngegcd/n%

threshol o
=6,3cd/nf
+ 020,15 B 63&6,3cd/f hypd >°

log AL luminance difference | y=63cd/nf
g
threshold 6,3cdint

+ AD 0,15 G 63&6,3cd/f hyp2

—_— e —
-1 0 1 2 x=logL

ndino Ae|dsip Jo juswainseaw 10} uonedijdde

Sd'/ 4ad'dN0T1623N/623N-T0Z0ETOZ :uoensibal gn L

9po09 :Jeudrew gN.L

Y=




W.LH 623N/623NAIBWgIel~/St"09°6v T 0ET//-dnY S|y Jejiwis 33

—
®
(@]
>
2.
o
=R
5
=
o
=
3
QD
=
o
=
=
=

©
§

o
o
o
Q
3
o
@D
o
=
=
=

°
=
=Y
w
o
[E=Y
N
©
(o2]
o
S
al
~
X
Q
=
o
3
@D
=4
=

http://130.149.60.45/~farbmetnk/UE20/UE29L0NP.PDF /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 2/4

log(L/AL) luminance contrast | y=30cd/n?
o )sensitivity threshold 9 -

- 04 0,15 A&Y 630cd/f hyp2

s

=7

L e ] e B S
-2 -1 0 1 2 X=logL

log(L/AL) luminance contrast | y=630cd/n?
o )sensitivity threshold 9 -

+ 04 0,15 A&R 630cd/® hyp2

. S . . ol
(')' ']'_ 5 x=logL

log(L/AL) luminance contrast | y=g3cd/nf
o )sensitivity threshold 9 -0

— 04 0,1s A&Y 63cd/f; hyp2

log(L/AL) luminance contrast | y=63cd/nf
o )sensmvnty threshold 9 -0

— 04 0,1s A&R 63cd/& hyp2

UE290-7N

TUB-test chart UE29; threshold daaramopoulos (89)
tp=0,1s, A&YBRG, 4 observ., 3 luminances, hyperb. A

log(L/AL) luminance contrast | =630cd/n?
o )sensitivity threshold 9 -

- 04 0,1s A&B 630cd/if; hyp2

L e ] e Y S
-2 -1 0 1 2 X=logL

log(L/AL) luminance contrast | =630cd/n?
o )sensitivity threshold 9 -

- 04 0,1s A&G 630cd/f hyp2

L e ] e Y S
2 -1 0 1 2 X=logL

log(L/AL) luminance contrast | y=3cd/nf
o )sensitivity threshold 9 ¢

. 04 0,1s A&B 63cd/r; hyp2

UE290-6N_2

log(L/AL) luminance contrast | y=63cd/nf
o )sensmvny threshold 9 ¢

- 04 0,1s A&G 63cd/f; hyp2

L e ] e B S
2 -1 0 1 2 X=logL

UE290-8N_2

log(L/AL) luminance contrast | 4=6 3cd/nf
o )sensitivity threshold 9 ~°

- 04 0,1s A&Y 6,3cd/f hyp2

S

A
-2 -1 0 1 2 X=logL

log(L/AL) luminance contrast | 4=6 3cd/nf
o )sensitivity threshold 9 ~°

. 04 0,1s A&R 6,3cd/if; hyp2

A
2 -1 0 1 2 X=logL

log(L/AL) luminance contrast ngegcd/n%

sensitivity threshold | ~_
Lg=6,3cd/nf
. 02 0,1s Y 63&6,3cd/fy hyp? "

log(L/AL) luminance contrast | y=63cd/nf
o )sensmvny threshold ~9_ "¢

=6,3cd/nf
. 020,15 R 63&6,3cd/f hypd >

A
-2 -1 0 1 2 X=logL

UE291-7N_2

iné)ut: w/rgb/cmyk —> rghy
2ofitput: no change

log(L/AL) luminance contrast | 4=6 3 d/n?
sensitivity threshold g=>%¢

— 04 0,1s A&B 6,3cd/% hyp2

—_— e e
-1 o) 1 2 x=logL

log(L/AL) luminance contrast | ~=g 3cd/nf
o )sensitivity threshold 9"

+ 04 0,1s A&G 6,3cd/f hyp2

—_—— e —
-1 0 1 2 x=logL

log(L/AL) luminance contrast | y=63cd/nf
o )sensitivitythreshold g—>°¢

=6,3cd/nf
+ 020,15 B 63&6,3cd/f hypd >°

log(L/AL) luminance contrast | y=63cd/nf
o )sensmwty threshold 9 -C

=6,3cd/nf
+ AD 0,15 G 638&6,3cd/f hyp2.°

—_— e —
-1 0 1 2 x=logL

uoneledas ou ndino Ae|dsIp JO UaWaInsSeaw oy uonedidde

Sd'/ 4ad'dN0T1623N/623N-T0Z0ETOZ :uoensibal gn L

9po09 :Jeudrew gN.L

Y=




W.LH 623N/623NAIBWgIel~/St"09°6v T 0ET//-dnY S|y Jejiwis 33

—
®
(@]
>
2.
o
=R
5
=
o
=
3
QD
=
o
=
=
=

©
§

o
o
o
Q
3
o
@D
o
=
=
=

°
=
=Y
w
o
[E=Y
N
©
(o2]
o
S
al
~
X
Q
=
o
3
@D
=4
=

___ N

L/AL luminance contrast
sensitivity threshold

40+ 04 0,1s A&Y 630cd/f hyp2

Lg=630cd/nf

30--
201

10--

0t == = f— =
-3 -2 -1 0 1 2 X=logL
UE290-1N_3
L/AL luminance contrast
sensitivity threshold

40+ 04 0,1s A&R 630cd/f hyp2

Lg=630cd/nf

30--
20T

10--

0+ttt === ——— =
-3 -2 -1 0 1 2 X=logL
UE290-3N_3
L/AL luminance contrast
sensitivity threshold

40 04 0,15 A&Y 63cd/i hyp2

Lg=63cdinf

30--

20T

UE290-5N_3

L/AL luminance contrast
sensitivity threshold

407 04 0,15 A&R 63cd/ify hyp2

Lg=63cdinf

30--

20T

UE290-7N

TUB-test chart UE29; threshold daaramopoulos (89)
tp=0,1s, A&YBRG, 4 observ., 3 luminances, hyperb. A

L/AL luminance contrast
sensitivity threshold

407 04 0,1s A&B 630cd/fy hyp2
ey
30T /n-/\
P
/

101

Lg=630cd/nf

=
0 P == = =
-3 -2 -1 0 1 2 X=logL
UE290-2N_3
L/AL luminance contrast
sensitivity threshold

407 04 0,1s A&G 630cd/f hyp2

Lg=630cd/nf

30T
201

101
=
0+ttt === ——— =
-3 -2 -1 0 1 2 X=logL
UE290-4N_3
L/AL luminance contrast
sensitivity threshold

407 04 0,1s A&B 63cd/rf; hyp2

Lg=63cdinf

30T

201

UE290-6N_3

L/AL luminance contrast
sensitivity threshold

407 04 0,1s A&G 63cd/ft hyp2

Lg=63cdinf

30T

20T

UE290-8N_3

http://130.149.60.45/~farbmetnk/UE20/UE29L0NP.PDF /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 3/4

L/AL luminance contrast
sensitivity threshold

407 04 0,1s A&Y 6,3cd/f hyp2

Lg=6.3cd/nf

30T

201

0+ttt A= —
-3 -2 -1 0 1 2 X=logL
UE291-1N_3
L/AL luminance contrast
sensitivity threshold

407 04 0,1s A&R 6,3cd/fy hyp2

Lg=6.3cd/nf

30T
201

101

[ e B ek e
=3 -2 -1 0 1 2 x=logL
UE291-3N_3

L/AL luminance contrast
sensitivity threshold

Lg=63cdinf
=6,3cd/nf
407 020,15 Y 63&6,3cd/f hypd >°
30t
201

101

0 +——t———— == ==

-3 2 -1 0 1
UE291-5N_3

L/AL luminance contrast

sensitivity threshold

=6,3cd/nf
407 020,15 R 63&6,3cd/f hypd >°

5 “X=logL

Lg=63cdinf

30T
201

101

0 e e e
=3 -2 -1 0 1 2 x=logL

UE291-7N_3

iné)ut: w/rgb/cmyk —> rghy
2ofitput: no change

L/AL luminance contrast Lg:513cd/m?
sensitivity threshold

407 04 0,1s A&B 6,3cd/y hyp2
30--
20--

10--

0+t == A== —
-3 -2 -1 0 1 2 X=logL
UE291-2N_3
L/AL luminance contrast
sensitivity threshold

407 04 0,1s A&G 6,3cd/f hyp2

Lg=6,3cd/nf

30--
20T

10--

0 A o e e
3 -2 -1 0 1 2 x=logL
UE291-4N_3

L/AL luminance contrast
sensitivity threshold

Lg=63cd/nf
=6,3cd/nf
407 02 0,15 B 63&6,3cd/f hyp ~>°

30--
20T

10--

0 L
=&
UE291-6N_3

L/AL luminance contrast
sensitivity threshold

Lg=63cd/nf
L=6,3cd/nf
407 AD 0,1s G 63&6,3cd/fy hy$2 "~

30--
20

10--

0 e e e —
=3 -2 -1 0 1 2 x=logL

UE291-8N_3

uoneledas ou ndino Ae|dsIp JO UaWaInsSeaw oy uonedidde

Sd'/ 4ad'dN0T1623N/623N-T0Z0ETOZ :uoensibal gn L

9po09 :Jeudrew gN.L

Y=




W.LH 623N/623NAIBWgIel~/St"09°6v T 0ET//-dnY S|y Jejiwis 33

—
®
(@]
>
2.
o
=R
5
=
o
=
3
QD
=
o
=
=
=

©
§

o
o
o
Q
3
o
@D
o
=
=
=

°
=
=Y
w
o
[E=Y
N
©
(o2]
o
S
al
~
X
Q
=
o
3
@D
=4
=

___ N

T* luminance difference
threshold sum

807 04 0,1s A&Y 630cd/f hyp2

Lg=63gcdint

60--
401

20--

0 A e e =
-3 -2 -1 0 1 2 X=logL

UE290-1N_4

T* luminance difference Lg=630cd/nf
threshold sum g /C

807 04 0,1s A&R 630cd/fy hyp2
60 .-
401

20--

0 A e e =
=3 -2 -1 0 1 2 x=logL
UE290-3N_4

T* luminance difference
threshold sum

80T 04 0,1s A&Y 63cd/ hyp

60--

401

UE290-5N_4

T* luminance difference
threshold sum

807 04 0,15 A&R 63cd/y hyp

Lg7b3cdinf

60--

401

UE290-7N_4
UE290-7N

TUB-test chart UE29; threshold daaramopoulos (89)
tp=0,1s, A&YBRG, 4 observ., 3 luminances, hyperb. A

00033010

T* luminance difference
threshold sum

807 04 0,1s A&B 630cd/fy hyp2

Lg=63gcdint

601
401

20T

0 —l—i—l--ﬂ---l-—:
-3 -2 -1 0 1 2 X=logL
UE290-2N_4
T* luminance difference
threshold sum

807 04 0,1s A&G 630cd/f hyp2

Lg=63gcdint

60T
401

20T

[ e e . e
=3 -2 -1 0 1 2 Xx=logL
UE290-4N_4

T* luminance difference
threshold sum

807 04 0,1s A&B 63cd/rf; hyp
60t

401

UE290-6N_4

T* luminance difference
threshold sum

807 04 0,1s A&G 63cd/fi hyp
60t
401

20T

0 e
=3 -2 -1 0 1 2 x=logL

UE290-8N_4

http://130.149.60.45/~farbmetnk/UE20/UE29L0NP.PDF /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 4/4

T* luminance difference
threshold sum

807 04 0,1s A&Y 6,3cd/f hyp2

Lg=6.3cd/nf

601
401

20T

0 == e f—
-3 -2 -1 0 1 2 X=logL
UE291-1N_4

T* luminance difference

threshold sum

807 04 0,1s A&R 6,3cd/fy hyp2

Lg=6.3cd/nf

60T
401

20T

0 == e f—
=3 -2 -1 0 1 2 x=logL
UE291-3N_4

T* luminance difference

threshold sum

L
807 02 0,1s Y 63&6,3cd/f hy
60t

401

UE291-5N_4
T* luminance difference
threshold sum

80 020,15 R 63&6,3cd/f hyp®

Lg=63cdinf
6,3cd/nf

60T
4071

20T

0 A e e
=3 -2 -1 0 1 2 x=logL

UE291-7N_4

iné)ut: w/rgb/cmyk —> rghy
2ofitput: no change

AN
T* luminance difference L =6,3cd/nt
threshold sum |

807 04 0,1s A&B 6,3cd/ hyp”
60--
401

20--

0+t == o f—
-3 -2 -1 0 1 2 X=logL
UE291-2N_4

T* luminance difference

threshold sum

g0 04 0,15 A&G 6,3cd/ify hyp2

Lg=6,3cd/nf

60--
401

20--

0+ == o f—
3 -2 -1 0 1 2 x=logL
UE291-4N_4

T* luminance difference

threshold sum

g0 020,15 B 63&6,3cd/f hypd

Lg=63cd/nf
6,3cd/nf

60--
401

20--

0-
-3
UE291-6N_4
T* luminance difference
threshold sum

L o
80+ AD 0,1s G 63&6,3cd/fy hyp2

Lg=63cd/nf
6,3cd/nf

60--
401

20--

0 e o e —
=3 -2 -1 0 1 2 x=logL

UE291-8N_4

uoneledas ou ndino Ae|dsIp JO UaWaInsSeaw oy uonedidde

Sd'/ 4ad'dN0T1623N/623N-T0Z0ETOZ :uoensibal gn L

9po09 :Jeudrew gN.L

Y=




